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Instructions for the candidates :

1. SO qUIRYE YA TR § I |
Candidates are requiied to give their answers in their own words as far as
practicable.

i 3 g ® R g siE quiles A #ed &1
Figures in the right hand margin indioa!:s‘;ﬁd! marks.

N

3 mmﬁmmmﬁfmf 15 e &7 Sififee W Rear v 1

15 minutes of extra time have been allotted for the candidates to read the questions
carefully.

4. % gI9A < Gvel 7 & — &vE-I 0F gum-a|
This question paper is divided into two sections — Section-4 and Section-B.
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in Section. re ;
n-4, there are 60 objective type questions, out of which any S0 questions
are to be T '
answered. First 50 answers will be evaluated by the computer in case
more tha ons '
an 50 questions are answered. Each question carmes 1vmark. Darken the

circle
with blue / black ball pen against the correct option on OMR Answer sheet

provided to you. Do not use whitener / liquid / blade / nail etc. on OMR-sheet,
otherwise the result will be invalid.

0.

W-a'if:z?ﬁg:im?as@@a.ﬁwa:ﬁrv 1swa+as'rme'=rrafﬁrarzf#f
Wm%f”ﬁt’z%@%uwm ¥ Gug 5 8 3 Iwig wv g
73 E Wwﬁ@4mwmm?:mmmmswfﬁnﬁﬂﬁf

in Section:B, there dre 27 short answer type questions, out of which any

15 questions are 1o be answered. Each question carries 2 marks. Apart from this,

there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries § marks.

—

7. FH SR F ORI SR F T oy afed &1

Use of any electronic appliances is strictly prohibited.

| 110 ] G [5010-G n7 Page 2 0f24

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

TYUE - A / SECTION- A
WﬁqmlowocﬁwWQuutlonl
¥ §@r 18 60 A% & wvT & wrwr wyw frwew Ry mo & Frend @ g oaet & Rl

505vAt & gav w9 grT g T¢ w7} frwew wt oM T v Rifgr wE

50x1=50

Question Nos. 1 to 60 have four options, out of which only one is correct. Answer any
S0 questions. You have to mark your selected option on the OMR-Sheet. 50x1=50

. 6drcm? &G alct gO & A &

(A) 15 cm (B) 16 cm
(€C) 20cm (D) 17 cm
The diameter of a circle with area 64n cm? is
(A) 15 cm (B) 16 cm
(C) 20cm (D) 17cm
2. P& ADEF @wm APOR T e ¥ f ¢D = ,Q @ 2R = o1 A Frfefaa § @
FI-H1 HE & 2
A LF = 4P (B) LF = £Q
(C) «£D=4P (D) <£E=4£P

In ADEF and APQR, iQ\Q iven that #D = Z/Q and £ZR = ZE ; then which of the

following is truc ? 6(2,6

(A) z:F:z%Q\Q% (B) <LF=40Q
(C) «4D= (D) <ZE=ZP
3. W I 2x 43y =5 TN dva6y=15
(A)  HfgAE e (B) 3 &
©) @I Fe T D) T /B T

The pair of equations 2x+3y =5 and 4x+6y =15 have

(A)  unique solution (B} infinitely many solutions
(C) no solution (D) none of these
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4 R 1
ﬂ*’-‘h.\‘?‘-. 117 ¥ nania (,Sm_117mmﬁt.a’fmﬂmi

ITHCF of 65 and 117 is in the form of 65 m ~ 117 then the valuc of m is
<) 3 tD] 4

2,10 ¥ 20 & SHewto 3R wowo mt

A1 10 B 10:1

4 D) 11:1

The ratio of the LCM and HCF of 2, 10 and 20 is

W10 (B) 10:1

(C) 4-3 [D] 11:1

6 ﬁi%ﬁswaﬁﬁaﬁz,aﬁgﬁbmﬁﬁﬁhﬂ,?ﬂmwm#

[Al Ibh [B] ha + b2 + hQ

(C)  2ibk (D) 2(lb+bh+lh)

Il the length of a cu@ is I, width b and height h, then the volume of the
cuboid is §z§

NG

(A} lbi $® B 12+ 4h2

N
(C) 2!n!.§’ (D) 2(lb + bh + lh)
wnlo®unl5%an75°tanB80° = ?

A 3 ® -

~i

C) -1 D) 1
3 fr=ieigs 7 1 @@-a ffam adE § 2

(A) 2" - 3x = (x+1)? (B) x2-2Jx+3=0
2422 (3-x? 2 1
{2) Ax’ +2=(3-x)" +4 D) 33-4
110 |G [5010-G u3) Page 4 of 24
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Which of the following is a quadratic cquation ?
(A) 2x}-3x=(xs+1)? B) x?-2/x+3=0

(C) 3x?+42=(3-x72+4 O x?-red
X

Y UE IEF MR TE A & AR wwE &) Al T Hanat o aum @, @ s

HYAT &1 9T &
(Al 1:2 By 2:3
(€C) 3:2 or 3:1

The bases of a cylinder and a cone are same. If their heights are also same, then

the ratio of their volumes will be

(A)  1:2 B) 2:3
(€] 3:2 (D) 3:1
10. 3§ W fa A fw fagait A(-1,0) AR B(5,0) BITH T WE, &
(A (0,2) 4B (2,0)
€ (3,0) (D) . (0,3)
The point-on x-axis which is equidistant from points A(-1,0) and B(5,0) is
) (0,2) g\@@ (B (2.0)
() (3.0) ¥ (D) (0,3)
W, AN
11. -10,-6,-2, 2,@, 34 R FH IEE
% B
(A) 15 By 12 ,
(C) 13 (D) 14
The number of terms in =10, -6,-2,2, ..., 34 is
(A) 15 (B 12
(C) 13 (D) 14
12, Oz (6,-5)F oFAHE R
{8y 6 (B) -5
(C) -6 Dy S
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The x-coordinate of the point (6, - 5 is

(A 6 B =5
) -6 D) 5
13, | g (20 -5)- 3 & vt o am
2 5
W 3 B -3
3
Gy -3 (D) -2—
The sum of the zeros of the quadratic polynomial x(2x -5)-3 is
2
(A) s (B) —%
3
€ -3 (D) %

14, 14243+, +nqRE

(A) n;l (B] n(n+11],(n+2}
nin+1) -1
(©) S o 2o
1+2+3+...+nise to .
A) . n+l S’g@ B nn+1)(n+2)
2 '\Q‘b&, ) 2
C// n(n n(n-1)
© _@ﬁ O ——
15,  FefiEa % § $F 9g9R € ?
3 1
(A) x?-5x+4Jx +3 (B) x?-x+x2+1
C) Jx+ 71;- (D) V2x%?-3/3x+J6
Which of the following is a plynomial ?
3 1
(A)  x?-5x+4J/x+3 B) x2-x+x2+1
©) J§+7% | D) 2x2-3J3x+46
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16, 12m $ GV & T T g W@ o A o 4y3 m ¥ gd I e e

» 60° (B) 45°

€) 30° (D) 90°

The length of the shadow of a 12 m high pillar falling on land is 43 m. The
angle of clevation of the sun is

(A)  60° (B) 45°

(Cy 30° ' (D)  90°

17.  AABC U& & fayget & fed 20 = 900 € @ cos(A + B) #1 9F &

@ oo | B 1

N

(C) >

3 (D)

AABC is a right angled triangle in which ZC = 90°. The value of cos(A + B) is

(A) O B 1
. 1 J3
© 5 S ) 5
S\\
18. fagait (2,3)w ('-\Q@%')é?ahaﬁ{ﬂ%
: Q
w3 8y 4
€ S D). 6
Distance between the points (2,3 )and (-2,3)is
(A) 3 B) 4
C) 5 D) 6

19. T 9oF T ¥ & HHR FI BRI 3 4 % SO A § T IR Fadi 2:3F
I | § | 4o & I H I §
l}éi\\/‘3:4 ' {Bl/ 9:8
C 8:9 (D) 4:3
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The radii of the bases of a cylinder and a cone are in the ratio 3 : 4. Il they haye

their heights in the ratio 2 : 3. the ratio of their volumes is

(Al 3:49 B 9:8

) 8:9 (D) 4:3
0. 3345, 17T x W MG 68, @ x T UL

(&) 1 (B) 2

€ 3 (D) 4

If the mean of 3, 4, 5, 17 and x 18 6, then the value of x is

A) 1 B) 2

€ 3 D) 4
21 3.4,7,2,7,6,7,9 % Tgemw §

@A 2 (B)

KL% B (D)

Modc of 3, 4,7, 2, 7, 6,7,9is

(A) 2 (B) 3

(C) 7 D) 9
22, 133X 19 & 99 INTH'{%@# http://www.bsebstudy.com

(A) 13 5‘2’% B) 16

, i

© 19 & D) 12

Airthmetic P&&n between 13 and 19 is

(A) 13 B) 16

(C) 19 D) 12

23, 3R U AW 2 - px+4=0 F GA R A Al p=?

Ay 23 B x4
() -5 D) +2
If the roots of a quadratic equation x* ~ px+4 =0 are equal then p =7
Ay +3 B) 4
€ %5 (D) +2
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24wl o Mt b ST wemd R W o ) mome b

A} a m »
() ab (D) g
Il a and b are prime numbera then LCM of a and b ia
Al a B) b
Y ab (D) %
25, fag(vyyWgymiag At
w B vy
© -yl D) x%?

Distance of the point ( x, y) from the origin is

(A) .m*:'-,l,;2 (B) Jx’+y’

© x-y ~ O K
26, Frfefaa 4 | R amQ@ Tt ?
Q
(A) 15 &6\ : B 23
€ 12 Q\Q‘G 0) 75
Which of l@&oﬂowing is’‘a prime number ?
(A) 15 B 23
€ 12 o) 75
27 (1+1an0 +sec@)(1+ cot0 - cosecB)= ?
(A} -1 (B)
c 1 o 2
28, ok ww gv @) R 20 @ WA 4x WX E T, A I GG A0
(A) I B I
@7 - (D) YR
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Wthe circumlerence of n circle is increased from 2n to 44, its arca will be

(A)  half (B) two times
(€} three times (D) four times
29 P 3 o g % Fromren a2
W (1) B 10,0)
€ (-1,1) .(Dl vl Qi

Which of the following is the co-ordinate of the origin ?
(A) (1,1 B) (0,0)
€ (-1,

(D} None of these
30 x=-5® HelE I we v @) o

(A) =3 & O (B)  y-3%& qEER

€ et forg @ ot g ) T @ FH A
What type of straight line will the gruph of x = - 5 be ?
(A} parallel to x-axis (B)  parallcl to y-axis

(C)  passing lhroq%&nc origin (D)  nonc of these
31.  sin(90°-0)= §Q§
. NS
(A) | sin0 Q\ - (B) -sin0
Yy costd (D)

- cos(
32.  frfefad A @ & ool wem -
() 2-43 B 5
2J3
{ —
§io 5 D) V6
Which of the following is a rational number ?
Ay 2-J3 B 5
2/3
C k. A
© D) V6
[110] G [5010-G a Page 10 of 24
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33 aft necl) « %.:;.n " cot) ST t‘

S S
(A) 12 (8) 13
12 13
@ 5 ™ 3
lrwn-%.thmnﬂﬂheqmlm
5
(A) 3 m %
. 12 1}
( - Lt
1€y o ™ 3
34t A 3 ey 3 Gond oed ey % nafex & beene |
(Al (0.12) m  (6.0) .
Cl (06, 4) o 108 0
The co-ordinates of the maud gvunt of the e arpient josning the points AQ, 4)
and B(-), 8 s
AN (0,12) m (6,0)
S
it (0,.6)

€ (6.-4) %g\\
3s. Mwuw@ﬂh&ﬁ:ﬁﬁa-ﬂl )

N\
N7 R IR m 3
< 3 Dy 4
How many tangrnts can be drewn from an external point on a circle ?
(A) | wm 2
(W] R} Dy 4
an6l*
o con2r®
LA [ I
< 2 > 3
(110]G [010Ga Poge 11 of 24
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T fm'm .r3+-(';x-2 %Wt

A 3,4 - %%
© -43 o v A @
The zeroes of the polynomial x? + Ex 2 are
A 34 B -33
< - ':'% (D)  none of these

38. @O svp 10,7, 4, ... % 30 gt 15 =g &

(A)  -55 (B) -66
€y -77 (D) 81
The 30th term of the AP, 10,7, 4, ... is cqual to~
(A) -55 (B) . -66
C -77 (D) 81

39. ufg l&n0=-— 8, M cogeco F Y

17 8
«m 8 (B) 17
15 ' 17
(C) 17 D) 15
If tan0 = T8§ then the value of cosec is
17 ‘ 8
(A) 8 (B) 17
15 17
(C) 17 (l?) 13
40. 1 100 7 T wFw wEm wam ,
(A) 4050 - ~ (Bf 5050 |,
(C) 6050 | (D) 7050

[110] G [5010-G u7)] | Page 12 of 24
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The sum of all natural numbers from 1 to 100 is

(A) 4050 (B). 5050

(C) 6050 (D) 7050 '
a1, WW x,yﬁtﬁamwﬁam ax+by+c=0 & v afumem s v & 2

Ay 1 (B 2

() A D) ¥ ? &

How many maximum solutions of the lincar cquation ax+by+c=0 are
possible in two variables x, y ?
(A) 1 (B) 2

(C)  Infinitely many (D)  nonc of these

ta

T 501 1, 4,7, 10, ... ST RF-WIZ 88 ¢ ?

Ay 26 : (B) 27
(C) 30 (D) .35
Which term of the A.P. 1,4,7, 10, ...is 88 ?
(A) 26 (B) - 27
(C) 30 ® D) 35
43. =g (-3,- 5)%5?«@%%43%?
(A) QQ | fria R
sef a?ﬂﬂ (D) Y TR
In which quadrant doces the point (- 3,-35) lie::?
(A) Ist quadrant (B) 2nd quadrant
(C)  3rd quadrant (D)  4th quadrant

44. 2cos260° & HH g

. ' 1

"3 B 3

© 1 o3
[110]) G [5010-G ¢n ' - Page 130124
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Value of 2con? a0 in

|
(A 3 i)

N

Nl

as. h‘aﬁﬂfﬂm&ummqﬂumwm'ms?mﬂm’m" Lo
(A) x? - 3x, 10 (B) x3+3x-10
€@  ¥*-3x-10 o) el 4w

In the following which is the quadratic polynominl whosc sum of zeros is 3 anq
product is- 10 ?
(A} x?-3x+10 (B) x?+3x-10

(€ x?-3x-10 (D)  nonc of these

46. ﬁﬁiﬁf@aﬁﬁmﬁ-ﬁtm,mmaﬁ'nﬁmaﬁﬁmﬁ?

2 v .,

(A) 3 B 05

C 07 (D) 15%

Which of the following numbers-cannot be the probability of an event ?
2
& ~-05

@A 3 (B |

C) 07 : D) 15%

47. maﬁﬁmﬁmsﬂtﬁzﬁaﬁmmwmmmm ?

@ B) 2
@ o wRmiE
The HCF of the smallest composite number and smallest prime number is
(A) 1 B) 2 |
) 4 (D) none of these
[110] G- [5010-G a7 Page 14 of 24
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48, U W @ U, FEE L em ¥, ®) G 4 mm 2 @) v e s
AR @) Evard ¥
(A) 100 cm (B) 25 cm
R x
(C)  100x cm (D) 10000 cm
A wirc of 4 mm diameter is made by pulling a metallic cube whose side is 1 cm.
The length of the wire is )
@A) 199 o . B 22 cm
X n
(C) 100% cm (D) 10000 cm
49, 1+tan?0 =
Ay sec? 0 (B) cosec?0
(C) tan?0 (D) cot®0
50. dfk & www fopdl @ @ el f 3 ;4 F-HEE R, @ I e w
3 &
A} 3:4 ® B) 4:3
N 9:16 Q\\Q D) 16:9
If the correspondin ,@ts of two similar triangles are in the ratio of 3 : 4, then
the ratio of their perimeters is
(A) 3:4 $ B) 4:3
(C} 9:16 (D) 16:9
51. U% GHAR FYEABC I T P 12 cm g, dl 3o Farg &
(A] 642 cm (B) 643 cm
(€) 3J6 cm (D) 6/6 cm
One of the sides of an equilateral triangle ABCis 12 cm, then its height is
(A) 642 cm (B) 643 cm |
[ 110 ) G [5010-G on| ° Page 15 of 24
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52 e Hufierm Ix-y=s aq 6x-2y=k CR S CER R

A keg B) k=0
€ kejo D) ke-10
If the : ‘
€ CQuations 3x-y e 5 and 6x -2y = k have no solution, then
A -
(A) k=0 (B) k# 0
(€ k» 10 (D) k=-10
531, : Y Yord -
’ ‘If‘”?IOUmmbmm:ﬁmmmahwn?ﬂdwmﬁfm*‘
g ¥
(A
) 100 m (B) 100¥2 m
(C) 200 m
75‘ Dy 200m

The length of the strning of a kte fhving at a height of 100 m from the ground and

angle of clevation 60° n

A 100m (B 10042 m
200
© i ™ 200m

54. ukacmﬁmmwwwﬁ'ﬁdmmqmwtmmmﬂ.

Al uedw wvite WY wed b
A V3 em (B) Q_Jicm
2
€  3V3 cm > 6cm
If two tangents inclined at an angle of 60" arc drawn 0 a circle of radiun 3 cm
then the length of cach tangent is
A 2/3 em ® gz.ﬁcm
€ 3V3em M 6em
| 110 ] G [5010-G an) Pege 16 of 24
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§5. 52 AWl W @F T N 3D} aw Feww, mﬁﬂwmqmwﬁmmh
W w1 W IR 93 ) ofewen feeeh )

. R

A 73 ® 26
| 3

(C) 2] (D) 39

A card is drawn at random from of a well-shuffled deck of 52 cards. What is the
probability of getting a king of black colour ?

! L
W13 ® 2%
. ) 3
DU © 35
56. Frtfatgn d A @) coseco & WA K P
cos( 1
A sin( ® sec O
] 0
,_(,9 - sin0 4 cosd
Which of the following iséqual to cosec® ?
coal |
(Al sin0 - sec?
1 E%
© sinod ™ cos
57 R 2min0 1, M (Fcot?03) & TR 8W
A 12 B, 13
) 9 Oy 8

If 28in0 = 1, then the value of (3cot? 0+ 3) will be

A 12 ® 15
c 9 ® 8
[110)G [5010-Qun Page 17 of 2¢
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58, m:"mmmfamm%

a1
3 B 1
© o ‘
(D) 3
The Probability of an impossible event is
w1
2 B 1
(C) 0 !
O 3
3y fettetipr ar 2 V2x-12 % TE EAC Rl ¢ ?
(Al 3V2.V2 2.4
G, B) [ =342.
' 2
* 3 w1 A
@ Ews S

Which of the f”l](l\-\‘l@c zetoes of x° - V2r-127

N
(A) -3J§.Jg§’ B -343. -
%Q\ =
o =3
75'- m (D} none of these
60. AW & {a@ T A g R
(A) a9 (B) qrIET

-

The largest chord of a circle is

(A} arc (B) chord
(C)  diamecter (D} none of these
[ 110 ] G {5010-G a7 Page 18 of 24 B ”
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vy - U / SBECTION-B
quaT-l'ﬂ’ll W / 8hort Answer Type Questlons
R¥T wear 1#27%@3#!:#:!##&1? 18 77t & Fw &1 a/iw g & Ry

2 %% Fraffia 1 16x2=30 .
Question Nos. 1 to 27 are Short Answer Type. Answer any 15 questions. Each question
camies 2 marks. 15x2=30

| e Fa @ T SR SO T ) e 2 o o #) s A w2

v

Three coins are tossed together. Find the probability of getting at least two
hcads.

20 feurd W X2 -2x-8 F IR AR AT - 2
Find the zeroes of the quadratic polynomial x?-2x-8.
3~ T B sin?5°+5in? 85° +8in? 10° + 5in? 80° = 2, 2
Prove that sin? 5° + sin? 85° + sin? 10° +8in% 80° = 2.
a. TH g AABC H sr*ﬁpﬁaqzwﬁm#amqmaﬁwsﬂtacaﬂ
. WA W wEE QAW R TR e ¢ fag #ife fF 403 L aaBC W

giREm) | 2
A circle is'touching the side BC of AABC at P and touching AB and AC

produced at Q and R respectively. Pfove that AQ = %{Pprimcter of AABC).
5, U A % i 1 S A H A F0 ARAT 25 cm €| 2
Find the area of a quadrant of a circle i if its perimeter 1s 25 cm. '
6. o qrdl i T IR Sl AT €, mﬁmmwmﬁmmaﬁi 2

Two dice are thrown logcther. Find the probability of getting even numbers on -
.both dice. '

[110] G [5010-G a7 - Page 190(24
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-y

T R . ) o e e b ;.

Prove thay 3+/5 } is an irrational number.

D L EOT VP X3 -4x-1=Q ¥ 7 FrA

Using quadratic formula find the solution of the equation x?-4x-120.
W T AN @ e w3 11 ) g drad o w9 @ 34 &1 3w

‘:-‘" (A} J.lii ml

9

2

Determine the common difference of an A.P. whose 4th term is. 11 and sum of

the Sth and 7th terms is 34, http://www.bsebstudy.com

10. T® \aBC 7 A, oW w4 §) fog =% fx (AB? + CD?)= (AC2 + BD?). 2

‘ln a MBC, AD is perpendicular to BC, Prove that (AB? +CDQ| =Mé: + 502'-

117 3R 71an0= 4 7, @ (73in0- 3cos0)
- (7sin0 + 3cos0)

F1 1 Fid HL ' 2

If 7tan0=4, then l'nd;\@%a!ucof g:lng gcosg:
Ny + 3C0s

,_)2/rwwm%&mﬁﬁﬁga’imzapﬂmm—z918@@%! 2

Find a pou% on x-axis. which is equidistant from the points A (2, -5) and
B(-2,9).

13 xmyﬁ@mwﬁmaﬁuﬁ:ﬁﬁmy] (7.1)T9(3,5) TREE & 2

Establish a relation between x and Y if the point ( x, y ) is equidistant from
\ (7.1)and(3,5).

s @ wensii @ wows 23irammaoao 1449 ¥1 o @ 161 %, @ gl

S T R ‘ 2
“The HCF of twa numbers is 23 and thicif LCM is 1449 If onc number s 161,
then find the other number.
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15.

afe u.[iw&ﬁmm a.\:2+bx+c$¥mﬁa} W?+p? AT WA R 2

If w,p are the zeroes of the quadratic polynomial ax? +bx+c, then find the

value of a? + p2,

TS & faom weiRer @1 s @ 272 T 1032 B FoFo AR | 2
Using Euclid's division algerithm, find the HCF of 272 and 1032,

I NI & 75 9 Frenret foret AT 14 om € 2.

' - "
Find the surface area of o hemisphere whose diameter is 14 cm.:

18, 91 H °E TR 6T . 2
tan 60° + 4 sin? 45° + 3sec? 30° + 5 cos? 90°
cosce 30°+ sec 60° - cot? 30°
Evaluate the following :
tan® 60° + 4 sin? 45° + 3sec? 30° + 5cos> 90°.
coscc 30°+ sec 60° - cot? 30°
19. TR FHE 2x + 515 ) AN 2%+ 3y = 3 T o faf A &1 L 2
Solve the systém of -cquations 2x+5y=1 and 2x+3y=3 by cross-
multiplicationmethod.
20. 0-16&#%%?@15317:@ 2
- p
Convert 0-16 in the form of -‘—;-

91, U eI OF & HEE 24 cm iR SR @ B 7 em ¥, ° 30 AEA @
AT &Y | | ' 2
Culeulate the volume of a right circular cone whose height is 24 cm and radius
of the basc is 7 cm.
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22,

237

24,

-’2).’

gt & fE
A ABC R sl Ap am oAc Wt R g p sk g owe T
_(ax_,l)cmm

2
tively such that

DE[|BC, AfGAD = (4x- 3 ) cm, AB = | 8x - 7 ) cm, BD

CE= (Sx-3)cm, @ x %1 913 Framet

In AABC, Dand E are two points on the sides AR and AC respee and
. cm

DE[IBC. If AD = (4x - 3 ) cm, AE = ( 8x - 7 ) em, BD = (3% )

CE = (5x-3) cm, then find the value of x,

2
fag =% f M-mm‘ltnnﬂ.
cotA+cot BB

tmnA+tanB

Prove that
O A+ col B

=tanAtan 8.

UH AABC & WM A(-3,0), B(S,-2) T c(-8,5) FI 5@ M B FED
A aifau 2

’Thr: vertices of a AABC are A(-3,0), B(5.-2) and C(-8,5). Find the

centroid of the tnangle.
Fretfetfaa de & dgerd T ot 2

Find the mode of the following distribution :

Class-interval

- HATA 0-@ 20-40. | 40-60 | 60-80 | 80-r100°| 16Q-120
é 4

CICItG|

\@* 30 36 52 61 38 33
Frequency O
N
26. [AEidAREa 92 & ana. g iy 2
-
Find the mcan of the following distribution :
- 0-10 |- 1020 | 20-30 | 30-40 40-50
Class-interval
S 7 8 16 9 10
Frequency '
<1 FEH F1 FTHA. 1000 § T IFTH W F AW 256000 & A T T FI) 2
If the sum of two numbers is 1000 and the difference of their squarcs is
256000. then find the numbers.
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*‘*“ﬁ'mrmummmm-
RV WO 28 % 33 i awfte wra k) gt o Pl o ot & o ) e o &
e s sw Praifr 3 486°20

Question Nos 28 16 35 are Long Ancwer Type questions. Ansuwer angy 4 questions. Each
question carmies 5 marks 4520

28I QW 40y 3 TN Ax e 3y -2 WO &1 RS 5

Draw the graph of pair of cquations x ¢ 2y = 3 and 4x+3y=1.

T 60 m HE wE F A A s T TR QY g b
G g & e aew % UE fag @ Tl b fra & S W 30 3K
60 ¥ 1 @ S sl @i @ fag &) g0 e S 5
Two poles of equal heights arce standing opposite to cach other on cither side of

the road, which is 60 m wide. From a point between them on the road, the
angles of clevation of the top of the poles arc 30° and 60° respectively. Find the

I,Ll

heights of the poles and the distance of the point from the poles.

30. oz &1 & g8 #1 21 W mﬁmﬁ#wﬁ%ﬁ;a‘iaﬁhﬂﬁaﬁ!mw*
&% | &a A8 5
Prove that the littie 'segment joining the points of contact of two parallel tangents

of the circle passes through the centre of the circle.

31 U Y FB g0 WA 9E @ a9 F §1-3R W) 10 km/he S 3 T
71, Al 30 Fe aeg @ 2 92 &0 @ AR AR 10 km/he W TE AR, A I
fAya awa @ 362 Afud @) g ERT a9 R 0 I S 5

A train travels a distance with cqual speed. If the train had run 10 km/hr
faster, it would have taken 2 hours less than the scheduled time and if it had
run 10 km/hr slower, it would have taken 3 hours more than the scheduled

time. Find the distance travelled by the train,
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N2 ety _tanA | cotA
1-cotA) (l-tanA)

=(l+tan A ¢ cot A). 5

Prove that —tANA . _COtA
(1 - cot A) (1 -tan A)

=(l+tanA « cot A).

33 ﬁwmhpﬁﬁmamhomﬁqﬂm!ﬁﬁ'ﬁw A & iy
¥ ®T 60" &, M Op W) #t wm WY 3
if the angle between two tangents drawn on a circle with radius a and centre
O from an exterior point Pis 60°, find the length of OP.

3 TEINTE STE 2 W R 20 km & ww § 3w & W 262 5 4 km &
TET R T e T S A ) uw aa v & O I 5

Nisha can swim downstream 20 km in 2 hours and upstream 4 km in 2 hours.
Find her speed of swimming in still water and the speed of the current.

35 em A F g9 WIGT1 IW 99 W Q@ 3 ARG Wi A 9O #9968

5
Draw a circle of rad:’l.gs{\d% cm. Draw two tangents to the circle which are
pcrpmdiculartocae@hcr.
\Q‘Zr
N
@ S
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